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3URJUDP�6WXGL ��3HQGLGLNDQ�$JDPD�,VODP

'HQJDQ� LQL� PHQ\DWDNDQ� GHQJDQ� VHVXQJJXKQ\D� EDKZD� VNULSVL� LQL� PHUXSDNDQ� NDU\D� VD\D�

VHQGLUL�GDQ�EHOXP�SHUQDK�GLDMXNDQ�XQWXN�PHPSHUROHK�JHODU�NHVDMDQDDQ�GL�3HUJXUXDQ�7LQJJL�

PDQDSXQ�� GDQ� VHSDQMDQJ� SHQJHWDKXDQ� VD\D� GDODP� VNULSVL� LQL� WLGDN� WHUGDSDW� NDU\D� DWDX�
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'HQJDQ� SXML� V\XNXU� NHSDGD� $OODK� 6:7� DWDV� EHUNDW� UDKPDW� GDQ� KLGD\DKQ\D� VHUWD�

VKDODZDW�GDQ�VDODP�\DQJ�VHODOX�WHUFXUDKNDQ�NHSDGD�%DJLQGD�1DEL�0XKDPPDG�6$:��PDND�

GHQJDQ� WXOXV� GDQ� LNKODV� GLVHUWDL� SHUMXDQJDQ�� $OKDPGXOLOODK� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ�

VNULSVL�LQL�\DQJ�NHPXGLDQ�VNULSVL�LQL�SHQLOLV�SHUVHPEDKNDQ�NHSDGD�

�� .HGXD�RUDQJ�WXDNX�WHUFLQWD�GDQ�WHUVD\DQJ�%DSDN�:DUQR�GDQ�,EX�7XWL�8WDPLQLQJ�5DKD\X��

WHULPDNDVLK� DWDV� NDVLK� VD\DQJ� \DQJ� WHODK� GLEHULNDQ� VHODPD� LQL� PHPEHULNDQ� GXNXQJDQ��

VHPDQJDW�� NHVDEDUDQ� GDODP� PHPELPELQJNX�� PHQJDMDUNDQNX� EDQ\DN� KDO� WHQWDQJ�

NHKLGXSDQ��GDQ�WHODK�PHPEDQJXQNX�PHQMDGL�SULEDGL�\DQJ�VHODOX�EHUV\XNXU�GDODP�VHJDOD�

DVSHN��VHUWD�GRD�GRD�\DQJ�WXOXV�GDODP�VHWLDS�VXMXG�VKRODWPX��DSD�\DQJ�VD\D�GDSDWNDQ�KDUL�

LQL�EHOXP�PDPSX�PHPED\DU�VHPXD�NHEDLNDQ��NHULQJDW�GDQ�MXJD�DLU�PDWD�EDJL�VD\D�

�� .DNDN� GDQ� DGHN� VD\D� WHUVD\DQJ� 'HVW\� 7LWLV� GDQ� $OLILDK� 5DPGKDQL�� WLDGD� ZDNWX� \DQJ�

SDOLQJ�EHUKDUJD�GDODP�KLGXS�VHODLQ�PHQJKDELVNDQ�ZDNWX�EHUVDPD�NDOLDQ��:DODXSXQ�VDDW�

GHNDW�NLWD�VHULQJ�EHUWHQJNDU�WHWDSL�VDDW�MDXK�NLWD�VHULQJ�PHULQGXNDQ��7HULPD�NDVLK�XQWXN�

EDQWXDQ��GRD�GDQ�VHPDQJDW GDUL�NDOLDQ�

�� .DNHN�� 1HQHN�� 2P�� 7DQWH� GDQ� VDXGDUD�VDXGDUD� \DQJ� VD\D� VD\DQJL�� WHULPDNDVLK� VXGDK�

PHPEDQWX�VD\D�GDUL�NHFLO�GLQJJD�VD\D�VXGDK�GHZDVD��PHPEDQWX�VD\D�EDLN�PDWHUL�PDXSXQ�

PRULO�NHSDGD�VD\D�GDQ�VHODPD�LQL�VHODOX�PHPEHULNDQ�GXNXQJDQ��GRD�GRD�NHSDGD�VD\D�
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�ΩόΑ��Ύϣ΃�ˬϥϳόϣΟ΃�ϪΑΣλ΍

'HQJDQ� PHQ\HEXW� QDPD� $OODK� <DQJ� 0DKD� 3HQJDVLK� ODJL� 0DKD� 3HQ\D\DQJ�� 3XML�

6\XNXU� NLWD� SDQMDWNDQ� NHKDGLUDW� $OODK� 6:7� \DQJ� WHODK� PHPEHUL� UDKPDW� GDQ� KLGD\DKQ\D�

NHSDGD� NLWD� VHPXD�� 7LGDN� OXSD� MXJD� NLWD� NLULP� NDQ� VKDODZDW� VHUWD� VDODP� NHSDGD� 1DEL�

0XKDPPDG� 6$:� VHEDJDL� PDQXVLD� \DQJ� SDOLQJ� WHUEDLN�� PDQXVLD� \DQJ� PHPEDZD� GDQ�

PHQXQMXNNDQ�NLWD�GDUL�DODP�\DQJ�JHODS�PHQXMX�DODP�\DQJ�WHUDQJ�EHQGHUDQJ�VHSHUWL�VDDW�LQL�

3HQXOLVDQ� VNULSVL� LQL� PHUXSDNDQ� VDODK� VDWX� V\DUDW� XQWXN� PHPSHUROHK� JHODU� VDUMDQD�

3HQGLGLNDQ� $JDPD� ,VODP� SDGD� )DNXOWDV� $JDPD� ,VODP� GL� 8QLYHUVLWDV� 0XKDPPDGL\DK�

<RJ\DNDUWD�� 'DODP� SHQHOLWLDQ� LQL� EDQ\DN� SLKDN� \DQJ� VXGDK� PHPEDQWX� GDODP�

PHQ\HOHVDLNDQQ\D�� 0DND� GDUL� LWX� SHQXOLV� MXJD� PHQJXFDSNDQ� EDQ\DN� WHULPDNDVLK� NHSDGD�

SLKDN�\DQJ�WHUOLEDW�

�� %DSDN� 'U�� *XQDZDQ� %XGL\DQWR� 0�3� VHODNX� 5HNWRU� 8QLYHUVLWDV� 0XKDPPDGL\DK�

<RJ\DNDUWD�

�� 'HNDQ� )DNXOWDV� $JDPD� ,VODP�� ,EX� 'U�$NLI� .KLOPL\DK�� 0�$J� \DQJ� WHODK� PHQGXNXQJ�

SURVHV�GDODP�PHQ\HOHVDLNDQ�SHQHOLWLDQ�LQL�

�� .HWXD�3URJUDP�6WXGL�3HQGLGLNDQ�$JDPD�,VODP��%DRDN�)DMDU�5DFKPDGKDQL��/F���0�+XP��

\DQJ�WHODK�PHPEHULNDQ�GRURQJDQ�GDQ GXNXQJDQ�NHSDGD�SHQHOLWL�

�� 6HNHUWDULV� 3URJUDP� 6WXGL� 3HQGLGLNDQ� $JDPD� ,VODP�� ,EX� $QLVD� 'ZL� 0DNUXIL�� 6�3G�,���

0�3G�,�\DQJ�WHODK�PHPEHULNDQ�GRURQJDQ�GDQ�GXNXQJDQ�NHSDGD�SHQHOLWL�
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�� 'RVHQ� 3HPELPELQJ�� ,EX� 1XUXO� $LV\DK�� 6�3G�,��� 0�3G \DQJ� WHODK� PHPEHULNDQ� EDQ\DN�

ELPELQJDQ��WXQWXWWDQ�GDQ�PRWLYDVL�NHSDGD�SHQHOLWL�GDODP�SURVHV�PHQ\HOHVDLNDQ�SHQHOLWLDQ�

LLQL�

�� 6HJHQDS� GRVHQ� GDQ� NDU\DZDQ� )DNXOWDV� $JDPD� ,VODP� 8QLYHUVLWDV� 0XKDPPDGL\DK�

<RJ\DNDUWD� \DQJ� WHODK� PHPEDQWX� GDQ� \DQJ� WHODK� PHPEHULNDQ� ZDZDVDQ� SHOD\DQDQ�

WHUKDGDS�SHQHOLWL�

�� .HSDGD� .HSDOD� 6HNRODK� 603 0XKDPPDGL\DK� � <RJ\DNDUWD� ,EX� +M�� 6LWL� 5RLNKDQDK��

6�3G���0�0 \DQJ�VXGDK�WHUEXND�NHSDGD�SHQHOLWL�XQWXN�PHODNXNDQ�SHQHOLWLDQ�LQL�

�� .HSDGD�:DND�.XULNXOXP 603�0XKDPPDGL\DK���<RJ\DNDUWD ,EX�6XUDWLQHP��6�3G \DQJ�

VXGDK�PHPEHULNDQ�VHJDOD�EDQWXDQ�NHSDGD�SHQHOLWL�VHODPD�EHUODQJVXQJQ\D�SHQHOLWLDQ�

�� .HSDGD�.HSDOD� 7DWD� 8VDKD 603�0XKDPPDGL\DK� � <RJ\DNDUWD� %DSDN�'UV�� %DPEDQJ�

6XU\RQR�\DQJ� WHODK�PHPEHULNDQ�VHJDOD�EHQWXDQ�NHSDGD�SHQHOLWL� VHODPD�EHUODQJVXQJQ\D�

SHQHOLWLDQ�

��� .HSDGD� *XUX� ,3$� VHODNX� VHNHUWDULV� SURJUDP� $GLZL\DWD� GL� 603� 0XKDPPDGL\DK� �

<RJ\DNDUWD� ,EX� 6UL� 5RNKPDQL\DWL�� 0�3G� \DQJ� WHODK EHUVHGLD PHPEHULNDQ� EDQ\DN�

ZDZDVDQ�GDQ�SHOD\DQDQ�WHUKDGDS�SHQHOLWL�

��� .HSDGD�NHGXD�RUDQJWXD�VD\D�%DSDN�:DUQR GDQ�,EX�7XWL�8WDPLQLQJ�5DKD\X \DQJ�VHODOX�

PHQGRDNDQ��PHQGXNXQJ�VD\D�GHQJDQ�SHQXK�NDVLK�VD\DQJ�GDQ�FLQWD�GDUL�DZDO�SHQGLGLNDQ�

KLQJJD�WHUVHOHVDLQ\D�VNULSVL�LQL��

��� .HSDGD� NDNDN� GDQ DGHN� VD\D� 0EDN� 'HVW\� 7LWLV� � GDQ� $OLILDK� 5DPGKDQL \DQJ� VHODOX�

PHPEHULNDQ�VHPDQJDW�WDQSD�KHQWLQ\D�NHSDGD�VD\D�

��� .DSDGD�NHOXDUJD� WHUGHNDW� VD\D�\DQJ�VHODOX�PHQGRDNDQ��PHQGXNXQJ�VD\D�GHQJDQ�SHQXK�

NDVLK�VD\DQJ�GDQ�FLQWD�GDUL�DZDO�SHQGLGLNDQ�KLQJJD�WHUVHOHVDLQ\D�VNULSVL�LQL�
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��� 7HPDQ�WHPDQ�3$,�&�GDQ� WHPDQ�WHPDQ�GDUL�0DGLXQ�\DQJ� VHGDQJ�NXOLDK�GL� -RJMD�� WDQSD�

NDOLDQ�PXQJNLQ�PDVD�NXOLDK�VD\D�DNDQ�PHQMDGL�ELDVD�ELDVD�VDMD��WHULPDNDVLK�DWDV�VXSSRUW�

\DQJ�OXDU�ELDVD�VDPSDL�VD\D�ELVD�PHQ\HOHVDLNDQ�VNULSVL�LQL�GHQJDQ�EDLN�

��� 6DKDEDWNX� ,NKVDQ�� $IUL\DQ�� )DLVDO�� )DQL�� (ULFNR�� ,OKDP�� 2ND�� 7D]NLD� GDQ� 1DQD��

7HULPDNDVLK�DWDV�GXNXQJDQ��QDVHKDW��VHUWD�GRD�GRD�\DQJ�VHODOX�GLEHULNDQ�NHSDGD�VD\D�

��� 7HPDQ�WHPDQ� ..1� VD\D� \DQJ� VD\D� VD\DQJL�� 7HULPDNDVLK� XQWXN� (OVD�� <HQQL�� 6HOOD��

<XVXI��)XUTDQ��6DII\��$PPDUXO��0XVVD�GDQ�'LND��7HULPDNDVLK DWDV� VHJDOD� VXSSRUW�GDQ�

GRD�GDUL�NDOLDQ�
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